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AN NON JOP INTAN ARXIND Y3 vannY
Pwnan Y opn pwnn Mrw Sw mvavinb

.(mMnN3a) 172 2%n

5 NN YXINN WIN PXINN
21N (an MN) arpRYn (9229 MN)
ABWwam 7p3a) a%nn Mxy 99% DRNP UR 13P¥A  wTN 11V¥R wnn wTn
DOMIDDN WA W Y1DY
10.77 10.77 8.60 8.60 AN
NIoNN Y NPRYY DoNNYRN RN NNNYYN 2104 10.27 16.76 8.16 IN1138
PYNRR %Y nnm arny 11T Sw mpa RN 32.24 11.20 26.11 9.35 PIn
NI IWNRI TN 42.53 10.29 35.26 9.15 PARDI
52.25 9.72 44.55 9.29 IND
60.71 8.46 53.17 8.62 m»
67.98 7.27 61.39 8.22 O
73.07 5.09 68.89 7.50 VDINR
76.96 3.89 76.07 7.18 [Anvap
82.53 5.57 83.75 7.68 INVPIR
90.14 7.61 91.48 7.73 92n3an
100 9.86 100 8.52 9ANIT
yinn abn

MRS 'wna 172% 'mnn 5ma 7w

227 MR 51035 A% “nann” L6.8 quin NN
DIFanYs cop opwnd oya RY mpw
TOX T RXD 12T DRMIN RY 10 pwna
oI NXN Y2 L nxmxm P navnn
APDN MwnTY oRNNa adnn N ,opram
[9pm a%nY Axmn MR 11N RY
P adna opTnn
NM%na ey a5nw nmabn o T
a%na mRIMY N2 ama miynn
Mmwn n5mnmna .owas a%nany ooy
MmMXMN Oy a%n n»ya YIR2 pwna nmynin
NTYN PITA pwnn S onnatn nnx .ama
Iamo jpT™Ia IR mn  mamnt nann Yy
TINNR Yan IR AITAY WD I RN
YT* SY nyxannn adna 2270 NpYTa Mt
1I0R N33 P2 YYTan MTNRNN Y nT2aynn
10 19131 mAaa 2372 9"MAaR wnina nna
11 191N2) MAa 29721 'Rn w7 L, (Moan
,MI NIA%N NNR BY M2 HYow (moan
mx» RANT ANpo1 09K Nan .nn
YNPTA MM 25NN pan T YY oMoy aSnn

a5nn TN DR MYApY mp*an nnN
W AP MIXMAT NPT RN OPINA XYY
A9 DIRA R YV NyXann
MPIN 28N NN Napwn RN 593 7T ,nnn
PR MY AR ADYNN TR HY
1D AN nyan adnn mynna oyn
9V (Lactie Acid) 291 N¥MNY (Lactose) 29NN
2% .omaanm onYTm nya opTn T
ymny %%y pian a%na opThn 1avn
Mp .adn Sw InR propa oot omnb
5Y nMmaa mxan op a%n Yyan madnnbw
ay 1Yo ,a%n YHYRMLPa 2032 INNh R
wwnn 2 Sy Ty .opTn 5w i taon
Nona A PP 10 pwan Y mapn
oYW abnn Ny MTpa M naonn
R 1D 2%n mixmn 1pnn mynTS ornna
N2 MY™MNN oR .SH 6.8 Ty SH 6 12 NN

oy MyTn mnaia o nyan pmn abn nyan *
57 5p5p 77 Y NMaYa .TNPHRa M0an avn
.Maan Yw a%na SHe-Y mixmann ayman
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224 NN

oPVDVYLLN MM ommn 1ond
TIRNRR PMMa Sy ay 5w oanana wbapw
el wivian!

(Moan 21 ,mMm4a 31 30N0)
(M9'22n75 3.02%21 N11aYb 2.59%)
(3.66% D'DPNI ,2.06% NAPN DMN)

(Moan% 6.74 ,N1Mav 6.03)
(8.00 MO ,4.7 MIN AN DINN)

narn XYYNPEN OIRYY Nadm SH miynn
M0anR RYY N9 a5na Thena npnam
M3 SH 7 oYy Yar pnam KRS wpn 1ma

.M1a% 6.03 Ny ,6.74 Moany

M AMRM SH Nvwa mpna mymnn Nk
MR 12 5w ATavna nadnn Nk oy 7T
RN YTIND Nyw 24 5w a5nY Sman wTina

S72%2 onx a5n ImNY

52 a5N MNRANT 27D

2.98 % VXN 953 Navn
0.36 1PN NMMYY
6.32 SH-2 yxnan ,m%%s mxmn
0.77 1PN N»op
3 2%n) yhaan wmna abnn mismn

5w 25nn my¥mnn Y ann RS (Mmaon
L(@Mmnx a%n 7)) wmnn winn
"3 WPY Wpn nnom ST savin

R Man 5935 Rnoun

0.0006 = P71 0.214 = R*0p SH = 3.317 + 1.0065 X (1251 %) = SH

3.317 + 1.0065 X 2.5 = 5.83 =
3.317 + 1.0065 X 3.0 = 6.34 =
3.317 + 1.0065 X 3.5 = 6.84 =

MNANT
7Y SHN 2.5 Na%N % DN
MYSHN3  1PaAdn % oN
"7 SHN 3.5 N2%N % OR

A RS 7a%2 n1a% Rnoun

0.0024 = P11 0.275 = R* DY SH= 2.276 + 1.272 X (25N %) = SH

SMININT

2.276 + 1.272 X 2.5 = 5.46 N SH™N 2.5 NAYn % oN

2.276 + 1.272 X 3.0 = 6.09 N*SHN 3

1abn % oN

2.276 + 1.272 X 3.5 = 6.73 " SHN 3.5 Madn % ox

M10anY 771 Rnvun

0.512 = P11 0.186 R? Y 4.816+ 0.637 X (25N %) = SH
.NNNNA,7.067 6.73 ,6.41 KXY SH-N 371 2.5,2 PaYn "Nk oy a5n wnan

m%waa nMmpny nma mxmn b omY nwp
.oppTn
a7N nyan
AMA 51 07w YW IRPVDVVDY
ANTIA AMIN aun S
SR ‘272 oNaTn My
2RI B 35NN pand
22”11 ,2%51% AT3AYNn 5T PRY

noMya XN IR MY A9 MNRNN
DY ok 5T AT Mpa ITpn nom
3%nn 2w My mbwvnaw »ags pevnnd
.SH™2 mX™mn N 72 2aY i
3.5% By Y595 a%n PINa PRY xS v
oY Awp 9% S™Mna Rmpw vas padn
a%n ,nNY gy .adny 7 IR M2 mynn
97nY% 50,000-7 NNNN D'pT'N NPAP QY Y53



